
ARGCO Toll Free (800)854-1015

Item Number Description Box QTY Case QTY 40% DISC 45% DISC 50% DISC

FIRE SPRINKLER ACCESSORIES

HEADGUARDS

4530100 Fire Sprinkler Headguard 1 PC 2 Hook  Red 1/2" IPS 100 0.73 0.67 0.61

4530104 Fire Sprinkler Headguard 1 PC 2 Hook Red 3/4" IPS 100 0.69 0.64 0.58

4530101 Fire Sprinkler Headguard 1 PC 2 Hook Chrome 1/2" IPS 200 0.76 0.70 0.63

4530102 Fire Sprinkler Headguard 1PC 2Hook White 1/2" IPS 100 0.73 0.67 0.61

4530103 Fire Sprinkler Headguard 1PC w/Baffle Plate Red 1/2"IPS 100 1.19 1.09 0.99

4530153 2PC BAFFLE PLATE ONLY RED f/ fire sprinkler headguard 100 0.83 0.76 0.69

4530150 Fire Sprinkler Headguard 2 PC Univ Red 1/2" IPS 100 2.05 1.88 1.71

4530157 Fire Sprinkler Headguard 2 PC Univ Red 3/4" IPS 100 2.05 1.88 1.71

4530150CP Fire Sprinkler Headguard 2 PC Univ Chrome 1/2" IPS 100 2.31 2.12 1.93

4530155 Fire Sprinkler Headguard for Recessed Head CP 200 2.24 2.06 1.87

BELLS AND ALARMS

6515100 Bell 10" Fire Alarm 120VAC (UL) 10 19.12 17.52 15.93

6515110 Bell 10" 24 Volt DC Fire Alarm (UL) 10 19.12 17.52 15.93

6515103 Bell 8" Fire Alarm 120VAC (UL) 10 16.56 15.18 13.80

6515104 Bell 8" Fire Alarm 24 Volt (UL) 10 15.50 14.21 12.92

6515105 Bell 6" Fire Alarm 120VAC (UL) 20 14.87 13.63 12.39

6515112 Bell 6" 24 Volt Fire Alarm (UL) 20 14.87 13.63 12.39

6515115 Bell Protector (Red) Cage 30 3.56 3.27 2.97

6515120 Bell Back Box, Fire Alarm 50 4.14 3.79 3.45

SPRINKLER HEAD BOXES

6510150 Fire Sprinkler Head Box 12 Spare 20 100 6.76 6.20 5.63

6510151 Fire Sprinkler Head Box 6 Spare 25 100 5.86 5.37 4.88

6510151A Fire Sprinkler Head Box 6 Tall-ESFR 20 100 8.71 7.99 7.26

6510152 Fire Sprinkler Head Box 3 Spare 40 120 3.99 3.65 3.32

FIRE SPRINKLER GAUGES

PLASTIC BACK GAUGES

6510160 Fire Sprinkler Gauge 300#  Air/Water (UL/FM) USA 60 8.34 7.64 6.95

6510161 Fire Sprinkler Gauge 300#  Water (UL/FM) USA 60 8.34 7.64 6.95

6510162 Fire Sprinkler Gauge 0-80-250# Air w/Retard (UL/FM) USA 60 8.34 7.64 6.95

6510163 Fire Sprinkler Gauge 300# Air 1/4" NPT (UL/FM) USA 60 8.34 7.64 6.95

1 of 6 11/6/2018



ARGCO Toll Free (800)854-1015

Item Number Description Box QTY Case QTY 40% DISC 45% DISC 50% DISC

STEEL BACK GAUGES

6510162STL Fire Sprinkler Gauge 250# Air W/Retard Stl UL/FM USA 60 10.09 9.25 8.41

6510164STL Fire Sprinkler Gauge 300# Air/Water Steel Back UL/FM USA 60 10.09 9.25 8.41

6510165STL Fire Sprinkler Gauge 300# Water Steel Back UL/FM USA 60 10.09 9.25 8.41

6510166STL Fire Sprinkler Gauge 300# Air Steel Back UL/FM USA 60 10.09 9.25 8.41

FIRE SPRINKLER BRASS EXTENTIONS

6520240 Fire Sprinkler Extension Brass 1/2" x 1/2" IPS 40 800 1.24 1.14 1.03

6520241 Fire Sprinkler Extension Brass 3/4" x 1/2" IPS 40 480 1.95 1.79 1.63

6520242 Fire Sprinkler Extension Brass 1" x 1/2" IPS 40 400 2.75 2.52 2.29

6520243 Fire Sprinkler Extension Brass 1-1/2" x 1/2" IPS 20 240 3.12 2.86 2.60

6520244 Fire Sprinkler Extension Brass 2" x 1/2" IPS 20 240 4.36 3.99 3.63

6520245 Fire Sprinkler Extension Brass 1/2" x 3/4" IPS 40 400 1.95 1.79 1.63

6520246 Fire Sprinkler Extension Brass 3/4" x 3/4" IPS 40 240 2.90 2.66 2.42

6520247 Fire Sprinkler Extension Brass 1" x 3/4" IPS 20 200 3.67 3.36 3.06

6520248 Fire Sprinkler Extension Brass 1-1/2" x 3/4" IPS 20 160 4.67 4.28 3.89

6520249 Fire Sprinkler Extension Brass 2" x 3/4" IPS 20 120 5.91 5.42 4.93

ESCUTCHEONS & WALL PLATES

FIRE SPRINKLER ESCUTCHEONS

ESCUTCHEON STEEL TWO PIECE STANDARD 401 STYLE

4510261 Escutcheon Pendant 2pc Set Std 401 Cup 1/2" & Skirt CP 300 0.85 0.77 0.70

4510261WH Escutcheon Pendant 2pc Set Std 401 Cup 1/2" & Skirt White 300 0.85 0.77 0.70

4510262 Escutcheon Pendant 2pc Set Std 401 Cup 3/4" & Skirt CP 150 1.21 1.11 1.01

4510262WH Escutcheon Pendant 2pc Set Std 401 Cup 3/4" & Skirt WH 150 1.16 1.06 0.97

ESCUTCHEON CUPS

4510001 Escutcheon Pendant Cup (f/ 2 PC 401) CP 1/2" 100 300 0.42 0.39 0.35

4510001WH Escutcheon Pendant Cup (f/ 2 PC 401) WH 1/2" 100 300 0.42 0.39 0.35

4510002 Escutcheon Pendant Cup (f/ 2 PC 401) CP 3/4" 100 300 0.42 0.39 0.35

4510002WH Escutcheon Pendant Cup (f/ 2 PC 401) WH 3/4" 100 300 0.42 0.39 0.35

ESCUTCHEON SKIRTS

4510041 Escutcheon Pendant Skirt  (f/ 2 PC 401) CP 100 300 0.42 0.39 0.35

4510041WH Escutcheon Pendant Skirt  (f/ 2 PC 401) White 100 300 0.42 0.39 0.35

ESCUTCHEON STEEL RECESSED STANDARD

4510071 Escutcheon  Recessed (STD Skirt) CP 1/2" IPS UL 200 1000 0.50 0.46 0.42

4510073 Escutcheon  Recessed (STD Skirt) WH 1/2" IPS UL 200 1000 0.50 0.46 0.42

4510075 Escutcheon  Recessed (STD Skirt) CP 3/4" IPS UL 200 1000 0.50 0.46 0.42

4510077 Escutcheon  Recessed (STD Skirt) WH 3/4" IPS UL 200 1000 0.50 0.46 0.42

4510074 Escutcheon  Recessed (STD Skirt)BR 1/2" IPS UL 100 200 1.49 1.36 1.24

4510078 Escutcheon  Recessed (STD Skirt)BR 3/4" IPS UL 100 200 1.20 1.10 1.00

OOPS RINGS

4515498 Oops Ring Chrome Steel Escutcheon 4-1/2"OD x 2-3/8"ID 100 1.65 1.51 1.38

4515499 Oops Ring Chrome Steel Escutcheon 5" OD x 2-1/8" ID 100 1.65 1.51 1.38

2 of 6 11/6/2018



ARGCO Toll Free (800)854-1015

Item Number Description Box QTY Case QTY 40% DISC 45% DISC 50% DISC

4515498-WH Oops Ring White Steel Escutcheon 4-1/2"OD x 2-3/8"ID 100 1.65 1.51 1.38

4515499-WH Oops Ring White Steel Escutcheon 5"OD x 2-1/8"ID 100 1.58 1.45 1.32

ESCUTCHEON STEEL ONE PIECE

4515021 Escutcheon 1PC  Steel  (CP)    1/4" x 3/4" IPS 10 100 0.43 0.40 0.36

4515023 Escutcheon 1PC  Steel  (CP)   1/2" x 1/2" IPS 10 100 0.48 0.44 0.40

4515024 Escutcheon 1PC  Steel  (CP)   1/2" x 3/4" IPS 10 100 0.53 0.48 0.44

4515025 Escutcheon 1PC  Steel  (CP)  3/4" x 1/2" IPS 10 100 0.50 0.46 0.42

4515026 Escutcheon 1PC  Steel  (CP)  3/4" x 3/4" IPS 10 100 0.50 0.46 0.42

4515028 Escutcheon 1PC  Steel  (CP) 1 X 3/4 IPS 10 100 0.74 0.68 0.62

4515029 Escutcheon 1PC  Steel  (CP) 1-1/4 x 1/2 IPS 10 100 0.90 0.82 0.75

4515030 Escutcheon 1PC  Steel  (CP) 1-1/4 X 3/4 IPS 10 100 0.91 0.84 0.76

4515031 Escutcheon 1PC  Steel  (CP) 1-1/2 x 1/2 IPS 10 100 0.66 0.61 0.55

4515032 Escutcheon 1PC  Steel  (CP) 1-1/2 x 3/4 IPS 10 100 0.91 0.84 0.76

4515033 Escutcheon 1PC  Steel  (CP) 1-3/4 x 1/2 IPS 10 100 1.20 1.10 1.00

4515034 Escutcheon 1PC  Steel  (CP) 1-3/4 X 3/4 IPS 10 100 1.20 1.10 1.00

4515038 Escutcheon 1PC  Steel  (CP) 2 x 1/2 IPS 10 100 0.91 0.84 0.76

4515039 Escutcheon 1PC  Steel  (CP) 2 x 3/4 IPS 10 100 0.91 0.84 0.76

4515020 Escutcheon 1PC Steel (CP) 1/4" x 1/2" IPS 10 100 0.60 0.55 0.50

4515027 Escutcheon 1PC Steel (CP) 1 x 1/2 IPS 10 100 0.86 0.79 0.72

4515046 Escutcheon 1PC  Steel (WH) 1/4 x 1/2 IPS 10 100 0.38 0.35 0.32

4515047 Escutcheon 1PC  Steel (WH)    1/4 x 3/4 IPS 10 100 0.38 0.35 0.32

4515049 Escutcheon 1PC  Steel (WH)   1/2 x 3/4 IPS 10 100 0.55 0.51 0.46

4515050 Escutcheon 1PC  Steel (WH)  3/4 x 1/2 IPS 10 100 0.55 0.51 0.46

4515051 Escutcheon 1PC  Steel (WH)  3/4 x 3/4 IPS 10 100 0.55 0.51 0.46

4515082 Escutcheon 1PC  Steel (WH) 1-1/2 x 1/2 IPS 10 100 0.91 0.84 0.76

4515090 Escutcheon 1PC  Steel (WH) 1-3/4 x 1/2 IPS 10 100 0.86 0.79 0.72

4515048 Escutcheon 1PC Steel (WH) 1/2 x 1/2 IPS 10 100 0.42 0.39 0.35

4515086 Escutcheon 1PC Steel (WH) 1 x 1/2" IPS 10 100 0.84 0.77 0.70

ESCUTCHEON PLASTIC SHIM RING

4520252CP Escutcheon Shim Ring Plastic CP Adds 1/8",1/4"Depth 10 100 2.25 2.06 1.88

4520252 Escutcheon Shim Ring Plastic White Adds 1/8",1/4"Depth 10 100 1.13 1.03 0.94

KYDEX RINGS

4515500 Kydex Split Ring 4” OD x 1-3/4” ID x 1/32” thick 100 0.77 0.70 0.64

4515501 Kydex No Split Ring 100 1.15 1.06 0.96

ROD BUTTONS

4515505 Rod Button Plastic White (1-51/64 OD) 120 0.20 0.18 0.17

4515506 Rod Button Plastic CP (1-51/64 OD) 120 0.20 0.18 0.17

REPLACEMENT ESCUTCHEONS

ESCUTCHEON STEEL PENDENT 2 PIECE - REPLACEMENT

4520255A Escutcheon Replacement 2PC Steel CP Split Cup W/STD Skirt 100 2.24 2.06 1.87

4520251 Escutcheon Replacement 2PC Steel Split CP 1/4" x 3/4" IPS 10 100 1.30 1.19 1.08

4520251WH Escutcheon Replacement 2PC Steel Split WH 1/4" X 3/4" IPS 10 100 1.30 1.19 1.08

3 of 6 11/6/2018



ARGCO Toll Free (800)854-1015

Item Number Description Box QTY Case QTY 40% DISC 45% DISC 50% DISC

4520255WH Escutcheon Replacement 2PC Steel Split WH Cup Only 1/2"IPS 10 100 1.40 1.28 1.16

4520255AWH Escutcheon Replacement 2PC Stl Split Cup W/STD Skt WH 1/2"IP 100 2.33 2.13 1.94

ESCUTCHEON STEEL RECESSED - REPLACEMENT

4520259 Escutcheon Repl 2PC Recessed W/Split Inner Ring CP 1/2"IPS 10 100 2.10 1.93 1.75

4520259WH Escutcheon Repl 2PC Recessed W/Split Inner Ring WH 1/2"IPS 10 100 1.80 1.65 1.50

4520257 Escutcheon Repl 2PC Steel Split Cup W/Flush Skirt CP 1/2" 100 1.78 1.63 1.49

4520257WH Escutcheon Repl 2PC Steel Split Cup W/Flush Skirt WH 1/2 100 1.72 1.57 1.43

4520256WH Escutcheon Repl 2PC Steel Split Cup W/SH Taper Skt  WH 1/2 100 1.72 1.57 1.43

4520256 Escutcheon Repl 2PC Steel Split Cup W/SH Taper Skt CP 1/2" 100 1.78 1.63 1.49

4520258 Escutcheon Repl 2PC Stl Split Cup W/Extra Deep Skt CP 1/2" 100 3.89 3.57 3.25

4520258WH Escutcheon Repl 2PC Stl Split Cup W/Extra Deep Skt WH 1/2" 100 3.89 3.57 3.25

ESCUTCHEON PLASTIC 1 PIECE - REPLACEMENT

4520254CP Escutcheon Replacement 1PC Plastic CP Split 1/4" X 1/2"IPS 10 100 2.93 2.68 2.44

4520253CP Escutcheon Replacement 1PC Plastic CP Split 5/8" X 1/2"IPS 10 100 2.81 2.58 2.35

4520254 Escutcheon Replacement 1PC Plastic WH Split 1/4" X 1/2'IPS 10 100 1.80 1.65 1.50

4520253 Escutcheon Replacement 1PC Plastic WH Split 5/8" X 1/2"IPS 10 100 1.80 1.65 1.50

4520250 Escutcheon Replacement 1PC Steel Split CP  1/4"X1/2"IPS 10 100 1.30 1.19 1.08

4520250WH Escutcheon Replacement 1PC Steel Split WH 1/4" X 1/2"IPS 10 100 1.30 1.19 1.08

WALL PLATES

WALL PLATES HEAVY GAUGE STEEL

4520100 Wall Plate 1/2" IPS 3/4" CPS (f/ C) Heavy Steel CP 12 480 0.99 0.91 0.83

4520101 Wall Plate 3/4" IPS (f/ C) Heavy Steel CP 12 480 0.99 0.91 0.83

4520102 Wall Plate 1" IPS (f/ C) Heavy Steel CP 12 480 1.19 1.09 0.99

4520103 Wall Plate 1-1/4" IPS Heavy Steel CP 12 240 1.22 1.12 1.02

4520104 Wall Plate 1-1/2" IPS (f/ C)Heavy Steel CP 12 240 1.29 1.18 1.07

4520105 Wall Plate 2" IPS (f/ C) Heavy Steel CP(1 12 120 1.88 1.72 1.57

4520106 Wall Plate 2-1/2" IPS (f/ C) Heavy Steel CP 12 120 1.98 1.82 1.65

4520107 Wall Plate 3" IPS (f/ C) Heavy Steel CP 12 120 2.38 2.18 1.98

4520107-1/2 Wall Plate 3-1/2" IPS 4" CPS (f/ C) Heavy Steel CP 12 120 2.38 2.18 1.98

4520108 Wall Plate 4" IPS (f/ C) Heavy Steel CP 12 120 3.40 3.12 2.83

4520114 Wall Plate 1/2" CPS 3/8" IPS (f/ C) Heavy Steel CP 12 480 0.83 0.76 0.69

4520116 Wall Plate 1" CPS (f/ C) Heavy Steel CP 12 480 0.99 0.91 0.83

4520117 Wall Plate 1-1/4" CPS (f/ C) Heavy Steel CP 12 480 1.12 1.03 0.94

4520119 Wall Plate 2" CPS (f/ C) Heavy Steel CP 12 240 1.22 1.12 1.02

4520120 Wall Plate 2-1/2" CPS (f/ C) Heavy Steel CP 12 120 1.75 1.60 1.46

4520121 Wall Plate 3" CPS(5-11/16" OD) (f/ C) Heavy Steel CP 12 120 2.01 1.85 1.68

WALL PLATES PLASTIC (CHROME PLATED)

4525100 Wall Plate Plastic  CP   1/2" IPS, 3/4" CPS 12 240 0.30 0.28 0.25

4525101 Wall Plate Plastic  CP  3/4" IPS 12 240 0.34 0.31 0.28

4525102 Wall Plate Plastic  CP 1" IPS 12 240 0.34 0.31 0.28

4525103 Wall Plate Plastic  CP 1-1/4" IPS, 1-1/2" CPS 12 240 0.45 0.41 0.38

4525104 Wall Plate Plastic  CP 1-1/2" IPS 12 240 0.45 0.41 0.38

4525105 Wall Plate Plastic  CP 2" IPS 12 240 0.53 0.48 0.44

4525106 Wall Plate Plastic  CP 2-1/2" IPS 12 240 0.68 0.62 0.57

4525107 Wall Plate Plastic  CP 3" IPS 12 240 0.83 0.76 0.69

4525108 Wall Plate Plastic  CP 4" IPS 12 120 1.24 1.13 1.03

4 of 6 11/6/2018



ARGCO Toll Free (800)854-1015

Item Number Description Box QTY Case QTY 40% DISC 45% DISC 50% DISC

4525109 Wall Plate Plastic  CP 5" IPS 12 120 1.31 1.20 1.10

4525110 Wall Plate Plastic  CP 6" IPS 12 120 1.91 1.75 1.60

4525111 Wall Plate Plastic  CP 8" IPS 12 120 3.00 2.75 2.50

4525301 Wall Plate Plastic  CP 1/2" CPS(5/8 OD)=3/8" IPS 12 240 0.26 0.24 0.22

4525302 Wall Plate Plastic  CP 1" CPS(1-1/8" OD) 12 240 0.34 0.31 0.28

4525303 Wall Plate Plastic  CP 1-1/4" CPS (1-3/8 OD) 12 240 0.38 0.35 0.32

4525304 Wall Plate Plastic  CP 2" CPS (2-1/8" OD) 12 240 0.53 0.48 0.44

WALL PLATES PLASTIC (WHITE)

4525200 Wall Plate Plastic WH  1/2" IPS, 3/4" CPS 12 240 0.23 0.21 0.19

4525201 Wall Plate Plastic WH  3/4" IPS 12 240 0.38 0.35 0.32

4525202 Wall Plate Plastic WH 1" IPS 12 240 0.30 0.28 0.25

4525203 Wall Plate Plastic WH 1-1/4" IPS, 1-1/2" CPS 12 240 0.38 0.35 0.32

4525204 Wall Plate Plastic WH 1-1/2" IPS 12 240 0.38 0.35 0.32

4525205 Wall Plate Plastic WH 2" IPS 12 240 0.45 0.41 0.38

4525206 Wall Plate Plastic WH 2-1/2" IPS 12 240 0.60 0.55 0.50

4525207 Wall Plate Plastic WH 3" IPS 12 120 0.60 0.55 0.50

4525208 Wall Plate Plastic WH 4" IPS 12 120 0.75 0.69 0.63

4525401 Wall Plate Plastic WH 1/2" CPS (5/8 OD)=3/8" IPS 12 240 0.11 0.10 0.10

4525402 Wall Plate Plastic WH 1" CPS (1-1/8" OD) 12 240 0.19 0.17 0.16

4525403 Wall Plate Plastic WH 1-1/4" CPS (1-3/8" OD) 12 240 0.23 0.21 0.19

4525404 Wall Plate Plastic WH 2" CPS (2-1/8" OD) 12 240 0.45 0.41 0.38

WALL PLATES CAST IRON GALVANIZED

4519002 Wall Plate 1/2"ips,3/4"cps Cast Iron Galvanized W/Set Screw 100 1.55 1.42 1.29

4519003 Wall Plate 3/4"ips,1"cps Cast Iron Galvanized W/Set Screw 100 1.72 1.57 1.43

4519005 Wall Plate 1" IPS,1-1/4cps Cast Iron Galvanized w/ Set Screw 100 2.54 2.33 2.12

4519010 Wall Plate 1-1/4"IPS,1-1/2"Cps Cast Iron Galvanized w/SetScr 80 2.94 2.69 2.45

4519115 Wall Plate 1-1/2" IPS Cast Iron Galvanized w/ Set Screw 40 3.37 3.09 2.81

4519120 Wall Plate 2" IPS Cast Iron Galvanized w/ Set Screw 50 3.83 3.51 3.19

4519125 Wall Plate 2-1/2" IPS Cast Iron Galvanized w/ Set Screw 50 5.05 4.63 4.21

4519130 Wall Plate 3" IPS Cast Iron Galvanized w/ Set Screw 40 5.84 5.35 4.87

4519135 Wall Plate 4" IPS Cast Iron Galvanized w/ Set Screw 20 7.19 6.59 6.00

4519140 Wall Plate 6" IPS Cast Iron Galvanized w/ Set Screw 10 11.19 10.25 9.32

WALL PLATES CAST BRASS

4519005BR Wall Plate Cast Brass 1" IPS,1-1/4" Cps w/ Set Screw 100 14.69 13.46 12.24

4519010BR Wall Plate Cast Brass  1-1/4" IPS,1-1/2 cps w/ Set Screw 80 19.14 17.55 15.95

4519115BR Wall Plate Cast Brass 1-1/2" w/ Set Screw 40 20.23 18.54 16.86

4519120BR Wall Plate Cast Brass 2" IPS w/ Set Screw 50 22.34 20.48 18.62

4519125BR Wall Plate Cast Brass 2-1/2" w/ Set Screw 40 29.27 26.83 24.39

4519135BR Wall Plate Cast Brass 4" IPS w/ Set Screw 20 46.83 42.92 39.02

4519140BR Wall Plate Cast Brass 6" IPS w/ Set Screw 10 68.15 62.47 56.79

WALL PLATES CAST BRASS CHROME PLATED

4519002BRCP Wall Plate Cast Brass CP 1/2"ips,3/4"cps W/Set Screw 100 8.51 7.80 7.10

4519003BRCP Wall Plate Cast Brass CP 3/4" IPS,1" Cps w/ Set Screw 100 10.66 9.77 8.88

4519005BRCP Wall Plate Cast Brass CP 1" IPS,1-1/4" Cps w/ Set Screw 100 15.21 13.95 12.68

4519010BRCP Wall Plate 1-1/4" IPS/1-1/2 CPS Cast Brass CP w/ Set Screw 80 19.70 18.06 16.42

4519115BRCP Wall Plate Cast Brass CP 1-1/2" IPS w/ Set Screw 40 21.29 19.51 17.74

5 of 6 11/6/2018



ARGCO Toll Free (800)854-1015

Item Number Description Box QTY Case QTY 40% DISC 45% DISC 50% DISC

4519120BRCP Wall Plate Cast Brass CP 2" IPS w/ Set Screw 50 23.43 21.48 19.53

4519125BRCP Wall Plate Cast Brass CP 2-1/2" IPS w/ Set Screw 40 29.80 27.32 24.83

4519130BR Wall Plate Cast Brass 3" IPS w/ Set Screw 40 38.31 35.12 31.93

4519130BRCP Wall Plate Cast Brass CP 3" w/ Set Screw 20 38.84 35.60 32.37

4519135BRCP Wall Plate Cast Brass CP 4" IPS w/ Set Screw 20 47.92 43.92 39.93

4519140BRCP Wall Plate Cast Brass CP 6" IPS w/ Set Screw 10 69.20 63.43 57.67

WALL PLATES CAST BRASS CHROME PLATED SPLIT & TABBED

4518002 Wall Plate Cast Brass CP Split 1/2"ips,3/4"cps W/Set Screw 100 13.40 12.28 11.17

4518003 Wall Plate Cast Brass CP Split 3/4"ips,1"cps W/Set Screw 100 16.40 15.03 13.67

4518005 Wall Plate Cast Brass CP Split 1"ips,1-1/4"cps W/Set Screw 100 23.56 21.60 19.64

4518010 Wall Plate Cast Brass CP Split 1-1/4"ips,1-1/2"cps W/Set Scw 60 29.80 27.32 24.83

4518015 Wall Plate Cast Brass  CP Split 1-1/2" IPS w/ Set Screw 40 32.06 29.39 26.72

4518020 Wall Plate Cast Brass  CP Split 2" IPS w/ Set Screw 50 35.76 32.78 29.80

4518025 Wall Plate Cast Brass  CP Split 2-1/2" IPS w/ Set Screw 40 44.72 40.99 37.27

4518030 Wall Plate Cast Brass  CP Split 3" IPS w/ Set Screw 40 57.38 52.60 47.82

4518035 Wall Plate Cast Brass  CP Split 4" IPS w/ Set Screw 20 70.78 64.88 58.98

4518040 Wall Plate Cast Brass  CP Split 6" IPS w/ Set Screw 10 101.36 92.92 84.47

FIRE EQUIPMENT

FIRE DEPARTMENT CONNECTION 90°

6510205 FDC 90 Siamese 4" x 2.5" x 2.5" NST UL/FM 4 110.60 101.39 92.17

FIRE DEPARTMENT CONNECTION STRAIGHT

6510200 FDC Straight Siamese 4" x 2-1/2" x 2-1/2" NST UL/FM 4 92.35 84.65 76.96

FDC BREAK CAP

6510450 FDC Breakable Caps Aluminum 2-1/2" 25 2.93 2.68 2.44

6510452 FDC Breakable Caps Aluminum 3" (Green) 8 8.84 8.11 7.37

6510451 FDC Breakable Caps Plastic 2-1/2" 300 1.12 1.03 0.94

STORZ CONNECTION

6510220 Storz 4" x 4" NPT(F) Straight Rigid RL 20 45.74 41.93 38.12

6510232 Storz 4" x 4" Swivel IPT(F) 30° Elbow RL 2 94.25 86.39 78.54

6510232S Storz 4" x 4" Swivel IPT(F)30 Degree Elbow w/ Screen 2 94.25 86.39 78.54

6510220S Storz 4" x 4" NPT (F)Straight Rigid RL w/ Screen 20 48.04 44.03 40.03

6510290 Storz 4" Cap w/ Chain RL 20 44.35 40.66 36.96

6510221S Storz 5" x 4" NPT (F) Straight Rigid RL w/ Screen 8 61.68 56.54 51.40

6510221 Storz 5" x 4" NPT(F) Straight Rigid RL 8 61.68 56.54 51.40

6510233 Storz 5" x 4" Swivel IPT(F) 30° Elbow RL 2 110.54 101.33 92.12

6510233S Storz 5" x 4" Swivel IPT(F)30 Degree Elbow RL w/ Screen 2 110.54 101.33 92.12

6510291 Storz 5" Cap w/ Chain RL 7 56.13 51.46 46.78

FIRE HOSE VALVES

6520005 Fire Hose Angle Valve 1-1/2" F(NPT)xM(NST)UL/FM 4 16 45.71 41.90 38.09

6520004 Iron Pipe Angle Valve 1-1/2" F(NPT)x F(NPT) 6 49.40 45.28 41.17

6 of 6 11/6/2018


